conditional-send-p!!+°

k(v:B) sends on [ [tg:T, f <state, v>]7[]
=qer ((Vz:Id. vartype(source(l);z) Cr ds(x)?Top)
& (Ve:E. (loc(e) = source(l)) = (kind(e) = k) = (valtype(e) Cr B))
& (Ve:E. (kind(e) = rev(l,tg)) = (valtype(e) Cr T))))
cA (Ve:E.
(loc(e) = source(l))
= (kind(e) = k)
= (((Tcan-apply(f;<(state when e), val(e)>))
= (3¢":E
((kind(e’) = rev(l,tg))
cA (sender(e’) = e
& (Ve E.
(kind(e”) = rev(l,tg)) = (sender(e”’) =e) = (e = ¢’))
& val(e’) = do-apply(f;<(state when e), val(e)>)))))
& ((—=(Tcan-apply(f;<(state when e), val(e)>)))
= (=(Fe":E. ((kind(e’) = rev(l,tg)) cA (sender(e’) = €)))))))

clarification:

conditional-send-p(es;ds;k;B;l;tg;T; f)
=get ((Va:Id. es-vartype(es; source(l); x) Cr fpf-cap(ds;IdDeq;z;Top))
& (Ve:es-E(es).
(es-loc(es; €) = source(l) € 1Id)
= (es-kind(es; €) = k € Knd)
= (es-valtype(es; €) Cr B))
& (Ve:es-E(es). (es-kind(es; €) = rev(l,tg) € Knd) = (es-valtype(es; e) Cr T)))
cA (Ve:es-E(es).
(es-loc(es; €) = source(l) € Id)
= (es-kind(es; €) = k € Knd)
= (((Tcan-apply(f;<es-state-when(es;e), es-val(es; €)>))
= (Fe’:es-E(es)
((es-kind(es; €') = rev(l,tg) € Knd)
cA (es-sender(es; €’') = e € es-E(es)
& (Ve":es-E(es).
(es-kind(es; €) = rev(l,tg) € Knd)
= (es-sender(es; e”) = e € es-E(es))
= (e = ¢’ € es-E(es)))
& es-val(es; €')

do-apply( f;<es-state-when(es;e), es-val(es; e)>)

€T)))

& ((—=(Tcan-apply(f;<es-state-when(es;e), es-val(es; €)>)))



= (—(3e’:es-E(es)
((es-kind(es; e’) = rev(l,tg) € Knd)
cA (es-sender(es; €¢') = e € es-E(es))))))))
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